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Question Numbers 1to 5 :
Read the following passage and answer the questions that follow :

Dogs and cats should never be permitted to eat chocolate, because chocolate works
like a poison on their bodies. Chocolate contains a chemical called Theobromine, which
is stmilar to caffeine. Human bodies are able to process the Theobromine without any ill-
side effects, but dogs and cats cannot.

Different types of chocolate contain different amounts of Theobromine. It would
take twenty ounces of milk chocolate to kill a twenty pound dog, but only two ounces of
baker’s chocolate or six ounces of semi-sweet chocolate. The amounts, of course, are
much smaller for a cat, whose body weight is typically less than that of a dog. Most Cats
are 1ot naturally attracted to eating chocolate, but many dogs are. Dogs, by nature, will
sample nearly anything that they see their masters eating, so pet owners must take care to

keep all chocolate products well out of reach of their dogs and cats.

Sub questions

Question Number : 1 Question Id : 1455899841 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

According to the passage. why is chocolate poisonous for dogs and cats?

Options :

It contains caffeine

Chocolate is made from processed cocoa

5, Ltgets stuck in their mtestines



They cannot process Theobromine
4. &

Question Number : 2 Question Id : 1455899842 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
How much milk chocolate would be poisonous to a cat?
Options:
Substantially less than twenty ounces

1.

Substantially more than twenty ounces

Approximately one pound

Half- a Hershy chocolate bar
4. %

Question Number : 3 Question Id : 1455899843 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Why might a dog eat chocolate, according to the passage?
Options :

because it tastes good



dogs won'’t eat chocolate

they can smell the theobromine

dogs like to imitate their owners
4.

Question Number : 4 Question Id : 1455899844 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the correct statement about the passage
Options :

Chocolate has 11l effects

Cats take twenty ounces of milk chocolate

. Cats follow the habits of their masters

Human bodies process the Chemical called Theobromine
4. &

Question Number : 5 Question Id : 1455899845 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

What does ‘sample’ mean in the passage?
Options :

model

Taste

simple

gluttonous

Is Section Default? : null

Question Number : 6 Question Id : 1455899846 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct sentence :

Options :
It is raining. aren’t it

1. %

, He said that he is ruined

You must work hard for success
3. %



It is smelling goodly

Question Number : 7 Question Id : 1455899847 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the correct sentence

Options :

Considering about the quality, the price is not high

Do not preventing me work

She resembles her sister

He persisted to say this

Question Number : 8 Question Id : 1455899848 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate articles :

rose is attractive flower

Options :

1. %



d1l. 4

d. all

the. an

the. a

Question Number : 9 Question Id : 1455899849 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate articles :

bird in the hand is worth two in bush.

Options :

an. the

a. the
"

the. the



Question Number : 10 Question Id : 1455899850 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the appropriate preposition :

He was vexed Ram for his behaviour.

Options :

at

to

with

upon

Question Number : 11 Question Id : 1455899851 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate preposition :

Prasad is confident his success.
Options :

of

1. %



towards

5]

for

about

Question Number : 12 Question Id : 1455899852 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the coirect answer :

The General the enemy’s fortress

Options :

storm

stormed
2.

have stormed

1s storm



Question Number : 13 Question Id : 1455899853 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct answer :

He . he and he

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.
Options :

CoIe, sdall, CD]]Q‘HE‘I’Ed
1.

came, see, CDH(lllEl‘E‘d
2.

caie, sail, CDIIC[HE‘I’E(I
3.

came, see, conquer
4.

Question Number : 14 Question Id : 1455899854 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct answer :

‘Parasite’ means

Options :

A loss of motion

exterminator

disease

one that clings
4.

Question Number : 15 Question Id : 1455899855 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct answer :

‘placate’ means
Options:

to make sure

to annoy



to pacify
v

to refuse

Question Number : 16 Question Id : 1455899856 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate synonym for

‘Forestall” means

Options :

Progress

Frights

Prevent
3. %

Disappoint

Question Number : 17 Question Id : 1455899857 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the appropriate synonym for Rectify



Options :

Build

Correct
2.9

Destroy
3. %

Command

Question Number : 18 Question Id : 1455899858 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the appropriate antonym for Anomalous
Options :
normal

1. %

connected
2. ®

VICIOUS

capacious



Question Number : 19 Question Id : 1455899859 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Choose the appropriate antonym for preposterous

Options :

apologetic

credible

conceited

complaisant

Question Number : 20 Question Id : 1455899860 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Change the following into a complex sentence :

We went there and found that she had left

Options:

- She had left and we went there

She and we could not find each other



When we went there. we found that she had left
3.

She went there to find we were not there.

Question Number : 21 Question Id : 1455899861 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Change the following into a simple sentence :

The cow is good and gives milk.

Options :

The good cow gives milk
1.+

, This is a good cow, which gives milk

To milk the cow is good

The good cow gives no milk

Question Number : 22 Question Id : 1455899862 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Change the sentence from active to passive voice :

A storm ravaged the village

Options :

The village ravaged the storm

The village was ravaged by a storm
2. &

The village ravage by a storm

A storm ravage the village
4. %

Question Number : 23 Question Id : 1455899863 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Change the sentence from passive to active voice

“their wonder was restrained by a strange happening”
Options :

a strange happening restrained their wonder

1.

Their wonder restrained a strange happening



Happening strange their wonder restrained

Their wonder made a strange happening

Question Number : 24 Question Id : 1455899864 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Change the sentence from direct to indirect speech.

He said, “T will be writing to him soon.”

Options :

He said that he would be writing to him soon
1.9

He said that he would be writes to him soon

He told that he will be writing to him soon

. He said that I would be writing to him soon

Question Number : 25 Question Id : 1455899865 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Change the sentence from indirect to direct speech.
She said that they would have a party that night.

Options :

She says. “we will have a party now”.

v She said, “we will have a party to night.”

She ordered, “we must organize a party tomorrow” .

3. %

. She said, “we could have a party yester night.”
General Knowledge

SectionId: 145589326

Section Number : 2

Mandatory or Optional : Mandatory

Number of Questions : 15

Section Marks : 15

Enable Mark as Answered Mark for Review and

Clear Response: Yes

Maximum Instruction Time: 0

Is Section Default?: null

Question Number : 26 Question Id : 1455899866 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The leadership in family planning — EXCELL awards 2022 in the country
category was received by :

DuBES S b of IS wG) -2022 S0 Deriiod® ReviHHH)B.

Options :

China

DI°

India

08d5e

Singapore

2036
3. #

Thailand

. (ajleselailotay

Question Number : 27 Question Id : 1455899867 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The Indian Film personality of the year 2022 award at the 53% International film

festival of India (IFFI) was presented to :

535 88 wosmhah Sof AFGTe 6 woldhS $6) ST ¢F &

20D0 2022 e & (Sob P68 Hootlod.

Options :

1.



Rajinikanth

Bezdzoos
.
Late Puneeth Rajkumar
8a3Hen HIS oofSsrs
2. %
Konidela Chiranjeevi
H30 DBoLd)
3.¢
Amir Khan
o6 S
4. %

Question Number : 28 Question Id : 1455899868 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



In India, eleven states account for 90 percent of the total number of operational
mines. Which of the following states are part of them?

8R40 st f}&)ﬁ@é&_ ando e éoqgéﬁ 90 =50 11 Eﬂt%aéﬁ SR,

wok$® £ Tpe:
A.  Andhra Pradesh
SolBHES
B. Bihar
555

C. Chattisgarh
S850E

D. Gujarat
Hhaora

E. Uttarakhand
sdoepod

Select the correct answer :
Options:

A.C & D only
.o AC&D &8

B & E only
B & E &85

A.C.D & E only
A.C.D&E &85

3. #®



A.B & C only

A B & C $r80
4. %

Question Number : 29 Question Id : 1455899869 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which one of the following 1s ncorrect with regard to the National Green

Hydrogen Mission?

2805 (A8 PE=S 2ES % Somobod Spm skmdS Ty,

Options :

It was approved by the Union Cabinet in April 2023.
2023 2(DcHS &° 42D So|d BDIS ©ZrboDod.

1.9

It makes India a leading producer of green hydrogen in the world.

& o8 88840 (530808’ (A8 TE=S 48)86° (Hknp P8 $erd0d
2. %

It reduces dependence on imported fossil fuels.

AHod Ber nodd B wprddido éi‘igéﬁac&r

3. #

It attracts mvestment opportunities for the industry.

38 JBED B Dipgad vizre O W58 08,
4. %

Question Number : 30 Question Id : 1455899870 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
“Yaanam'’ is a science documentary of about 44 minutes. Which of the following

are correct about it?

28r% 44 Ao AdAte QEJ wépobd ‘dirlo’ ol JB@
a°5°§@5: ool

A, Yaanam 1s a first science non-feature film in Sanskrit.

o S0 8o & abnds JobAtd 2 FSh3s 29)

B. Itrecounts the story of India’s Chandrayan.

30 08afe YoBaeS ¥5% 30ahBgo.

C. It was screened at the 53" edition of the International Film Festival of
India (IFFT)
&I 53 § o A &0 (s0balr) IFFIE (HEg0ms.

Select the correct answere ;
Options :
A & B only
A & B Sr@D

1. %

A & C only

A & CERED
2.

C only

C S8
3. %



B & C only

, . B&C S8

Question Number : 31 Question Id : 1455899871 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The total length of national highways (NH) in India , as on 30® November, 2022,
approximately, was : (in lakh kms)

30 $onb 2022 T88 EERIE IS TR0 Indo LY DI

(o8 8,306
Options :

1.45
1.+

Question Number : 32 Question Id : 1455899872 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



March 2023, who among the following was elected as the Chief Mimister of
Tripura?
59), 2023 & (308 TOE (BHF Loggioo[® M ARYBawS T AS?

Options:

Manik Saha
SR8 oS

1.+

Manik Sarkar
S8 50@5

2. #

Biplab Kumar Deb

| D35 956 85

Dasarath Deb
. BI88 b

4. 3

Question Number : 33 Question Id : 1455899873 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In World women’s Boxing Championship 2023 who won the gold medal in

50 kg category.

2023 (0% &) 8ol oS &5 6° 50 3o SLASE womd) H8¥

D5

Options:



Lovlina Borgohain

QT B PS

1. %

Nikhat Zareen
Q& 285

2. %

Saweety Boora

., i:gﬁ 58

Nitu Ghangas

. Hb KorrD

Question Number : 34 Question Id : 1455899874 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Which of the following is wrongly paired regarding Nobel Prizes 2022.

SPond adons - 2022 % Honodod Spre awbd 28 fhgodod.

Options :

Physics — John . F. Clauser

F8E R0 - 2PI.29.5°R0

1. %

Chemistry — Alain Aspect
S Pahs FPo - @83 IS

2. %



Peace — Ales Bialiatski
FTOH - ©BH mdﬁ:aéﬁﬁ:&

3. %
Economics — Philip. H. Dybvig
i o =
i @88 TRo - HI3. o, &80

Question Number : 35 Question Id : 1455899875 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the mcorrect pair regarding the Union Budget — 2023 from the following.

8B PG RS 252023 H Somofod 98 T a8 Jod¥

Sk,

Options :
Gobardhan - Waste to wealth plants

1 RP28688 - B’)éﬂgﬂ D008 HodS
. W

Amrit Dharohar — Optimal use of wet lands

oS $5°rE - Hred Jve B IHr SIBrADHS HE0
2. %

Unity mall — Centre for national integration

S S-S - wbch $D¥E Soo

3.



Saptarishi — Seven priorities of the Budget.

S5GR - 2ZEE° D (@I

%

Question Number : 36 Question Id : 1455899876 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Whose writings influenced Karl Marx's dialectical metefrialism.

D56 88w w§ &rb) @w¥) AeEe)E F88 T (Berado Barow.
Options :

Ricardo

y=ito)
el

Hegel

Angels

D0OBSy
3. %

Lenin

SR
4. %

Question Number : 37 Question Id : 1455899877 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Identify the writer who won the Sahitya Akademi Award for Telugu Novel

‘Manodharma Paragam’ in 2022,

DY) Sotie’ o3 Benih Ko & 2022 6° SoEFIE wED BT

ol Sandd HhBosob.
Options :

Vadde Naveen

53 %55

1. %

Repaka Subhadra
- Barg 8

Madhuranthakam Narendra

Sooroso S80S

3. %

Chandra Latha

4, DO o

Question Number : 38 Question Id : 1455899878 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which city the COP-27 conference was held

COP27 8 S&es0 & =8R0H.

Options:



Kuwait

©36

Sharm-el-Sheikh
AP -5 -28

2. %

Doha
&5 456

Beirut

H57e5

4, %

Question Number : 39 Question Id : 1455899879 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which Harappan City recognized as UNESCO world Heritage site in 2021.

20218° O PaR) Shemo UNESCO (Fdoil 6y (Saom h8osadod.

Options :

Kalibangan

=l eleTot)

1. %

Dholavira

&ods
o

2.



Mohenjo Daro

2o2ros’ o6t
3. #

Lothal
S

Question Number : 40 Question Id : 1455899880 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Every year world Press Freedom Day 1s celebrated on

58 Jodéybo (BHos HB 'i;sa’-a 6 EySo & Ber ebhdBoird.
Options :

31 May

> 3

1.9

3, April
56 3

13% May

= 13

13% April
NS 13
4. %



Teaching Aptitude

SectionId: 145589327
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time: 0

Is Section Default?: null

Question Number : 41 Question Id : 1455899881 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What is the appropriate purpose of learning?
oFdto @ng) a’méséév%c AN &?

Options :

Modifications of behaviour

- BBGIS® 358ewen

Individual adjustment

458 Seren
2. %

Social and Political awareness

Fdred oradcdh ifdrEs



Development of life skills
& A
20N JDeTge @&)B’)q)%

4, %

Question Number : 42 Question Id : 1455899882 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
How can a teacher establish rapport with students?

SrERgint &Ugti@w &° $8%cn0tren Qe S'Jtijééags Beth?

Options :

Becoming a figure of authority

oS ‘?.';:Pﬁlgécnﬂ

Impressing students with knowledge and skills

D HOH FHeRws” domype HERE o Schob

Playing the role of a guide

S8 BEHIT P(F S0l

3. ¢

Becoming a friend to the student

D588 YIS Ko
4. %



Question Number : 43 Question Id : 1455899883 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What are the essentials for the improvement of any skill?
S) E@e&g&@% FHOBEER BT ©XIEDRD d&?
Options :

Correctness & Speed

DB & Sefd

1. %

Accuracy & speed
. PSS & fotee!

Understanding & correctness

OBTES & DYHEE

Easy methods & speed
Do égé:m & Sfsw

Question Number : 44 Question Id : 1455899884 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What can we promote to the learner through assignments?
ABreTo TN FRHN8 (H0hoF S80S ofmo 267
Options :

1. %



Proper utilization of time

PO ‘é&ﬁ)cﬁrﬁ SBB&0

Continuity of class work

SE188 JIN E°XrhoHeD

Innovative ideas

Sr8S ©dGBnob
3. %

Thought provoking
o&°ST 440 DoroboHed

4.

Question Number : 45 Question Id : 1455899885 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

How education is useful in application towards daily life?

Qs £DB0S° Dy 2 DForr IAGREHBLSHH?
Options :

For logical thinking

FOE G} 6D

Social values
PAFLE Denden



Problem solving

SRRy SBES0
3.¢

Moral values

88 Denden
4, %

Question Number : 46 Question Id : 1455899886 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What is suggestible step for the improvement of a slow learner?
DoBFod BRI ©fHB FEH Trdodh rgo e ?
A 0

Options:

Remedial teaching

Daredes HES
1.¢

Re teaching

Dbz 58S

Group discussion

Porlrs S
3. %

Imposition

Heodrdy [FPohBdeo
4. %



Question Number : 47 Question Id : 1455899887 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What is the output that we expect from the students through high percentage of
attendance
i) Pt ol S)Uisg 2006 2 A 2738 oferer BBosHd.

Options:

Mid day meals

Sogrssm s BeSso

Discipline

Edoages

Minimum levels of learning
SHREELAESES Rpowen

Homnesty

Daeonés

Question Number : 48 Question Id : 1455899888 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which 1s the strategy goes perfect for the attainment of effective learning?
HoBodR oFd8 0w Eromreod & AP0 HEEHE?

Options :

On line oriented education

3 85 Sob%% 25

Learner centered education

ws Sold $S D

Teacher centered education

SaPTReh SolB%)S D

Play way education

.. sorwe SoB%E D

Question Number : 49 Question Id : 1455899889 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Expand UPE as per article No-45 of Indian constitution?

P58 Tregoll ©fE8e0-45 (dsPdaw UPE 2380%08
Options :

Union Programme education

S5RSHS (RFIro EGEARS

1. %



Upper primary education

- o5 (Howndl BRSES

University programme education

d&::ﬂﬁ)é&%é Bro DBPBRS

3. ®

Universal primary education

|, SREES (Soiob 2eyBAS

Question Number : 50 Question Id : 1455899890 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

“Jaya Jaya Priya Bharatha Janayiri...... Divyadhatri....” Who wrote this song?

b 20 Bad S 2Son(B...... HZTE ... S¥owd A5E?

Options :

Dasaradhi

PI0H

1. %

Devulapalli Krishna Sastry

- RISISEE) HY TR



Sree Sree

88

Aathreya

sBah
4. %

Physics

Section Id : 145589328
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 50
Section Marks : 50
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Is Section Default?: null

Question Number : 51 Question Id : 1455899891 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Inertia is defined by

& (808 o Ao =dan)) ARk,
Options :

1. %



Newton's I Law

5?5635 15 QaHhdo

Newton's II Law

| %r0S 28 dabiko

Kepler's I Law
8336 15 Ao

Kepler’s IT Law
86 25 doddo

Question Number : 52 Question Id : 1455899892 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

1 barn =

1 w5&=

Options:

] 0—-32 -

bk

, o 107 m



10724 m?

10729 12
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The Kepler's law of planetary motion states that the areal velocity of a planet
orbiting the sun is
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If the velocity of a body is equal to the velocity of light in vacuum, according
to the special theory of relativity the mass of a body becomes
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For a simple harmonic oscillator,
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When two harmonic oscillators each of mass ‘M’ are coupled with a spring of

mass ‘m’ then the normal modes are (@, =Natural angular frequency)
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The frequency range of audible sound is
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A particle 1s executing SHM with amplitude ‘A’, when its kinetic energy and

potential energy are equal at a displacement.
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In Lloyd’s single mirror, the phase difference between the two interfering

waves 1s

oG E‘)édﬁiﬁamoé‘g 58880 Do) Both S¥orre iy S50

Options :

v 180°

Question Number : 60 Question Id : 1455899900 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The condition for achromatism is
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In the frunhofer diffraction due to a circular aperture, as the diameter of the
aperture mereases, the radius of the central bright fringe
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For a zone plate, if fz, fg and fy are the focal lengths of red, green and violet

colours respectively, then
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The percentage of transmission of light, the Brewster’s window enabled is
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The angle between O-ray and E-ray in double refraction of light is
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A sugar solution of concentration 0.2g/cc is in a tube of length 20cm. If the

angle of rotation of plane of polarization is 60° in a polarimeter for the
solution, then the specific rotation of the solution is
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The shape of the image of a square object formed with the aberration of
distortion is
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The focal length of a zone plate is given by
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The efficiency of a Camot’s engine working between 627°% and 927%
temperatures is
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According to the kinetic theory of gases, the energy of a system at zero
absolute temperature is
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The transportation of kinetic energy from one region to the other in a gas gives
rise o
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The change in Helmholtz function is equal to
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The increase in entropy when 273 kg of ice is melted at 0°C is (Latent heat of
fusion of ice is 3.26 x 10° J/kg)
273 kg © K05 0°C &8P $§ $6RoD8H% doE’ae wdiide
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For a real gas. Cooling by Joule — Kelvin effect 1s possible only when
(Ti-mversion Temperature)
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Wien’s constant 1s
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2.92 x 10~ mk
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The following gas has heating effect at room temperature in throttling process
Z°&oh H@che® Ko éiﬁ;@ié 2 63 FITRY 08 TN

Options :

Oxygen
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Carbon dioxide
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Hydrogen
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Two stars radiate maximum energy at wavelengths 0.48 pm and 0.60 pm
respectively. The ratio of their temperature 1s
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The integral form of Gauss law is
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The electric field intensity at the centre of a hollow charged sphere is
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The electric potential at a point of 1 m from a charged sphere of radius 0.5m
when it 1s charged to 10c is
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Biot — Savart’s law in vector form is
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The Hall coefficient 1s
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The differential form of Faraday’s law is
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The SI unit of the coefficient of self induction is
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In an AC circuit, confaining capacitance 2pF and frequency 50Hz, the
capacitive reactance is
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The y of a transistor is 49 then its 3 is
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A zenerdiode in forward bias acts as a
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If A and B are the inputs of XOR gate then its output is
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The decimal number equal to the binary number (110.01); 1s
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An AC voltage V=20 sin (100mt) volt is applied to a resistance 2k€. The rms
current flowing through it is
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The experimental verification of vector atom model 1s done by
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Raman effect
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If an electron 1s accelerated in an electric field having potential difference 500V
then the de Broglie, wavelength is
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The spin of electron was experimentally detected by
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An electron is moving between two walls having separation 10"%m then its de
Broglie wavelength corresponding to the first excited state 1s
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For a normalized wave function (y)
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The de Broglie wavelength of a particle having kinetic energy E 1s 4. If it’s
kinetic energy is doubled then its de Broglie” wavelength is
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The following is not the property of nuclear forces
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A superconductor exhibits
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The maximum value of binding energy per nucleus is
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Options :

8.8 MeV
1.+

9.2 MeV
2. %



7.8 MeV

7.2 MeV

Question Number : 100 Question Id : 1455899940 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Quantum dots are used in
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The number of P.-P, and P,—d_bonds m the structure of SOz molecule are

respectively
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2 moles of an ideal gas expands isothermally and reversibly from 5 dm? to 50
dm’ at 27°C. The work done (in KJ) is (R=8.3JK™ mol™)

2 Irew GlTon 25 5 e 5 dm’ %08 50 d’ % ‘.653’500530 Waleven)
sEphbabomr FF oD ahib 52 (KI o6°) (R=8.3K mol?)
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The acidic nature of alcohols in the correct order 1s
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Which of the following oxide is amphoteric in nature?
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The set which represents only extensive properties is
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Kolbe’s electrolysis of Sodium Propionate gives
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Which of the following will have highest pH?
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Units of equivalent conductance is
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4, &

Question Number : 109 Question Id : 1455899949 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The reducing agent in Cleansen reduction is
ELSEEN) écﬁ:éﬁzaa’més Eohozeled

Options :

Li Al H,

1. %

Zn—Heg /[ HCI

2.

FPd/ BaSO4
3. #

CH . Li
4, % )

Question Number : 110 Question Id : 1455899950 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The coordination number of Co in [CO (NH;); NO,] C1, is
[CO (NH;); NO,] Cl, &° Co 3508365 Dogg

Options:

-3



Question Number : 111 Question Id : 1455899951 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The order of coagulating power of Chloride, phosphate and sulphate ions
towards Fe,0,. x HOsol is

Fe,0,.x H,0 ¢ & 5738, 3°'§:Jé§ lelen ‘ééﬁ)éﬁ Slowe]
oS 3”3"»??5 EEEN

Options :

Chloride < Sulphate < Phosphate
§788 <3S <rPS

1.+

Sulphate < Chloride < Phosphate
IS <86 < FS
2. % é”J i d

Phosphate << Chloride < Sulphate
FYPE <BE <3S
3. %



Phosphate < Sulphate < Chloride
iﬂ'?fnojéﬁ < aéﬁaéﬁ <538

Question Number : 112 Question Id : 1455899952 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The TUPAC name of the compound given under is

Bod J33¥dkn TUPAC &) sesoskm

H CH, - C (CH3);
S
—
&
CH; - CH, CH;
Options :

(E) - 4.6.6 — trimethyl - 3 —heptane
2 3
- (E) - 4.6.6 — |B80gS -3 —3?@5

(Z) - 4.6.6 — trimethyl - 3 - heptene
(Z)-4.6.6— [B2FS -3 -3788

2. #

(E) - 2.2.4 — trimethyl - 3 - heptene
(E)-224- B2gS -3-3278

3. ®

(Z) - 2.2.4 — trimethyl - 3 - heptene
. soé
(Z)-224— | B0gS -3 - mgﬁ



Question Number : 113 Question Id : 1455899953 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Hybridisation of Boron in the formation of diborane is

Qﬁ%E KJU?&E&ES;:@S SoeS S0 J08888050

Options :

sp

£:
sp
3 F

Question Number : 114 Question Id : 1455899954 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In Bragg’s equation nA =2d sin{. where n represents

R SnE8adw, nl=2d sinf & n SrDoHbs
Options :

number of moles

Srde Sogyg

1. %



order of reflections

[Beoro8 BN

2. %
Avagadro’s number
OSME ”nﬁos,}g
3. %
number of X-rays
X- S¥easine Jogy
4. %

Question Number : 115 Question Id : 1455899955 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Arrange the following alkenes in the order of increasing stability
MeHC = CH, H,C =CH, MeHC =CHMe MeC =CHMe
I II 11 IV
8od wdde ﬁq}}déogéaa 60 (888 HgosSod.
MeHC = CH, H(C =CH, MeHC = CHMe Me(C = CH Me
I II I IV

Options :

M<I<II<IV
1.9

IV<II<IO<I



I<H<OI<IV

NMl<IN<IL=1

Question Number : 116 Question Id : 1455899956 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The most popular light radiation source used in infrared (IR) spectroscopy is
Sovdom $85e D3k (IR) 6 &3@rR0D (Sgms Tod D8%m ek
Options :

Hydrogen lamp

B =S &S

1. %

Nernst glower

1=
- 35@ G555

Deuterium lamp

Srsdeaho &5
3. %

Hollow cathode lamp

B a::aeacse)a"s &5Ew

4, %



Question Number : 117 Question Id : 1455899957 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The temperature at which two conjugate solutions merge into one another to
form one layer is called

2 68Bd8 58 Both Jockur) (Trerer 28 TIE w88 DKo Fod I8 8P8
D aydorron

Options :

Boyle temperature

Sans &F K
1. % 2 %L
Critical temperature
Lobi éé’f@ié
2. % ¢ =
Dalton’s temperature
Pes S8l
3. % - @il‘
Critical solution temperature
» Lol (@ aefred

Question Number : 118 Question Id : 1455899958 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Tautomerism is not exhibited by

PP (HEG0ER.

Options :
CH=CH-OH
= ‘
e Xy
.
O
I
2. ks
= ""F’D
I
0
3. %
,,;;G
RN
4, % ¢

Question Number : 119 Question Id : 1455899959 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In IR Spectrum, Carbonyl absorption is observed at
IR $8505508° &3S Fledn aB)i 204908 Syl



Options :

3600 cm!

1. %

3100 cm!
2. #

1700 cm?
3. %

2600 cm’!
4, @

Question Number : 120 Question Id : 1455899960 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

For a spontaneous reaction, the value of AG i1s

a8 éé_eaéﬁééa AG Dens
Options :
Zero

I,

Infinity
©Nossm

2. #



Positive

FTHE dend

Negative

me&ﬂé&é BBV

4. &

Question Number : 121 Question Id : 1455899961 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Arrange the following compounds in the order of decreasing reactivity towards
electrophilic substitution reaction

JJ@L%%JSE H8Fdeasinisd (Sob 53:&9’565;:@ % 8 865K f.icgéeé
$hoiind® K800l

CH; cl OCH;

| | |
ANANe
N N X

(@) (I) (IID) (IV)

Options:

IV>II>I>1I1

1.4

IWIH=1



II]: e H e I poct I‘E\‘f

D=NMI>IV=>1I

Question Number : 122 Question Id : 1455899962 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

\{'-U
In IR Spectrum. the peak corresponding to ~ —~  group is in the frequency
range of

%
Sobors Sesukd L0 Skt Q) du6D b 28

Options :

1620 - 1680 Cm’!

1. %

3600 Cm™

Lad

-3

o

e
1

1710 - 1750 Cm!

2100 - 2200 Cm™

Question Number : 123 Question Id : 1455899963 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The ebullioscopic constant is the elevation in boiling point of a
wﬁgé&ﬁé LS %mésﬁw OSTP B W%g‘)’é:@;ﬁ &8 [ bibde
Options :

1 M Solution

1 M ([meseasion

1 N Solution

1 N (&adeasdn

2. %

1 m Solution

1 m (GPdeasdo

3. %

1 F Solution

1 F (orsdeasoo
4. %

Question Number : 124 Question Id : 1455899964 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Di carbonyl compound on heating with NH; gives a dertvative of compound X.
on heating with P;0s gives a derivative of compound Y, then X and Y
respectively are

Qsﬂs‘;éé 53)@%%533 NH; 383chme X 533@?’50 @08) &R0, B
P,0s & 383w Y 533&%5.1: o?mé& éé&é&éﬁ bq)&faa. e
X S8 Y en S

Options :



Furan. Pyrrole

Segoes, BE°S
1. %

Pyrrole, Pyridine
, . DE%S, 2885

Pyrrole, Furan

L 58°S, Fgoes

Pyrrole, Pyran
HE°S, oS

4, #

Question Number : 125 Question Id : 1455899965 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following is a soft acid ?

Bod VS° Hybuspsind HeoSead?

Options :



cd*t

BE::I.-‘.-

Question Number : 126 Question Id : 1455899966 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The solvent which can dissolve all the carboxylic acids is

®) o305 uiHBved $8hoHS Ko [Hd

Options:

Conce. H,50,
e H,S50,

Conc. HCI
mE HCI

Water
Fale?)

dil. NaOH
5o NaOH



Question Number : 127 Question Id : 1455899967 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
When amino acid is heated with soda lime, it decomposes into
@@55 B0 R’ﬁ@@ﬁaéa 3&3’?\::6;'{5353 BRI B0 HKBRHIG

Options :
Amine
1.¢ Bs
Alkane
@B)S

Alcohol
@@g‘t’.ﬁé

aldehyde

sOE

4, %

Question Number : 128 Question Id : 1455899968 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Example of pseudo halide ion is

Ty FBE wIirIs e

Options :



S

Clo,

CN

PO,

Question Number : 129 Question Id : 1455899969 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The osmotic pressure of 0.1 M sodium chloride solution at 27% is

[Assume that sodium chloride under goes 100% dissociation, R=0.082 L-atm
K1 mol]

27 5 0.1 M Rcko FB8 (i @) B Sesi,

[R¥eabo §BE 100% d@rekin Sothéod ©b&sn. (R=0.082 d.otm)
K13rs ]
Options :

3.92 atm

3.92 wem

1.96 atm

1.96 &
. S



4.92 atm

- 4.92 &ty

2.46 atm

2.46 ©tx)

Question Number : 130 Question Id : 1455899970 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Dehydrogenation of secondary alcohol gives
BB et TrE eI Ensn B8
Options :
Acid
N0

Alkene
@S

Aldehyde
I pe
it i

Ketone

8s5°S



Question Number : 131 Question Id : 1455899971 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following metal carbonyl does not obey the 18 electron rule?

Bod TR 18 QTS AHErY FELD EF SFIS 6?

Options :

Ni (CO);

Cr (CO)s

V (CO)e

[V (CO)s] ™

Question Number : 132 Question Id : 1455899972 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

At very high pressures the compressibility factor (z) for 1 mole of a gas 1s

CLifalS 5855 &8 1 S T Bwd) ?ﬁcf)tﬁéé Hoeasa (z)

Options :

122
RT



1+ 2=
RT
2.9
L
RT
3. #®
{__b
VRT
4, %

Question Number : 133 Question Id : 1455899973 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify Hunds diecker reaction form the following

& (808 AS° Twofy 386 X8y HBoBod.

Options :

R COO Ag—2% ,R—Br+co, + 4gBr

1.¢
2
H,C,—C—-C,H; +Br CH, COOC,H; — Q=2 4
?H
HiCs= F - CH, COOC, H;
Coil
2. %



CH, = CH, ~CO0H —o 2. 5 OH, C H—-COOH
Ci

R.COOH+HN, —Z5% ,p_ NI, +CO, + N,

Question Number : 134 Question Id : 1455899974 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The TUPAC name of the complex [Cr Br; (en);]C1 is

[Cr Br2 (en)2]C1 So33%5» Gn¥) [UPAC sodosm

Options :

Chlorido dibromido bis - (ethane -1, 2 - diamine) chromium (I1T)

$°88° FE°NE A - (&BS-1,2 - ZAWI) B nahHo (1)

1. %

Dibromide bis - (ethane -1, 2 - diamine) chromium (III) Chloride

308" D - (&3FS-1,2 - ZaS) B ko (I ) 5738

2. &

bis - (ethane -1, 2 - diamine) dibromido chromium (IIT) Chloride

09 - (5BS-1,2 - ZAWS) FSTNE B naho (11 ) §3&

3. ®

dibromido bis - (ethane -1, 2 - diamine) chromium (VI) Chloride

&8 I - (H3I-1,2 - 32S) EwaHo (VI ) 538

4. %



Question Number : 135 Question Id : 1455899975 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The bond order of O, molecule 1s x. the bond orders of 02_ and O," are

respectively

0,083 Good), moBEodo v, wwiS 0, H8ckn 0, v nofFhdne

&I
Options :

3x 3x

3 4
1. %

3 A

2 2
2. %

Sx  3x

4° 4
3. ®

3x 5

47 4
4.

Question Number : 136 Question Id : 1455899976 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Nitro benzene on reduction in acidic medium gives

3 BoES wHAFHESNS® EohEsmsn BobKHE DEHSE.
Options :

Nitroso benzene

I BokS

Aniline

w205

Azobenzene

& Bokd

Phenyl hydroxyl amine

536 TIE'YS ©BS

Question Number : 137 Question Id : 1455899977 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The colour of Cu (II) 1s blue, whereas two colour of Cu (I) is
Cu (IT) o) 5850 DHedn, wondSF Cu(l) S HPB0
Options :
Colour less

SBBeE S

1. %



Light blue
B8 Qodn

Green

S5

Bluish green

Qo880

Question Number : 138 Question Id : 1455899978 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The compressibility factor of an ideal gas is.

a8 @dég TPO505) cﬁ:oég_ ﬁofnr‘f@@ oeassn

Options :

1.0



Question Number : 139 Question Id : 1455899979 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
When acetone is reduced with excess of sodium and ethanol, 1t produces

WETH M) Pécho DBk agS8° Fahsbmbn TOSHD LA,

Options:

Ethyl alcohol
IFS VeSS

1. %

Butyl alcohol

20058 S @@&?.’555

n-propyl alcohol
N{EFPRS oS

Iso propyl alcohol

R8PS woptS

Question Number : 140 Question Id : 1455899980 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following elements when dopped to germanium gives P-type
semi conductor?

20Rch0 & O roddn 6o Jekhiko e P-IEkw S DREn
DE\hEo8,
Options :
Carbon

50@5

1. %

Phosphorous

__ éﬂ}ﬁgﬁﬁ

2

Sulphur
S

Aluminium

@Wé&:&)@d}c
4.

Question Number : 141 Question Id : 1455899981 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Gibbs phase rule for heterogeneous system can correctly be written as
Depbich aiéé‘ngé) A @%:g QoS0 (A0 PR éée‘.’é
Options :

1. %



F=C+P+2

F=C-P+2
2. ¥

P=F-C+2
3. %

P=F-C+1
4, %

Question Number : 142 Question Id : 1455899982 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The most stable conformer of butane is
2008 Boo¥) ©8 HEDE wHobrSESw
qj. [~

Options :
CH;
H H
H H
CH,
1.¢ :



CHs,

3. #®
CH;
I
| \
H-~ CH,
H H
4. %

Question Number : 143 Question Id : 1455899983 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A colloidal system in which liquid dispersed in solid is called
Bod RS® Hoddws® Bk Slééea sﬂoﬁsﬂééééé
Options :

Gel



Emulsion

2. % '-'Q.&%S

Foam

Db

Sol
S

Question Number : 144 Question Id : 1455899984 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The major product in the following reaction is,
8ol 5556‘9 (TR &

/" (1) B,/ THF
e

(i) NaOH. H,0,

Options:

/CH3
|
™~ on



CH;

-

"t OH
'”r'rf.l"j DH
3. %
) CH;
~~
OH
4, %

Question Number : 145 Question Id : 1455899985 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The incorrect statement about physisorpton is
a8 Fheadodd (Eod STPEE R0
Options:

It decreases with increase in temperature

., oS 260 Fol SrhEod

It 1s a multilayered adsorption

28 E)N Srde SSamsn

2. %



It requires high activation energy

|, % sBud $8 o558

Enthalpy change is about 20 kJ mol!

Jogedy ) 20 kI mol™

Question Number : 146 Question Id : 1455899986 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The product “Y" formed in the reaction sequence is

Bod STyEHdns® eHEw Y D HoBod.

0, Zn

x — ¥

I
>/\—-ﬁ""/"’\\/\\ .
€

Options :

Aldehyde
«HrE
& e

1. %

Ketone

8°S

Carboxylic acid

52028)08 oo



Aldehyde + Ketone
o3& + 8&°5

4, %

Question Number : 147 Question Id : 1455899987 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The unit cell parameters of a crystal lattice area=4.2 A”. b=37 A% ¢=10.6
A® ox=P=y=90" The crystal lattice belongs to

28 YO8 ot (Dirndnm ans) wodpol Tordinm, a=424A% b=
3TA% c=10.6 A" ox=f=y=90", woudS H&8 sy ($0d FRE°

GR8 Fobike.
Options :
Cubic
- qnéaqj&één
Triclinic
. [BRISEED
Monoclinic

NESS QPeEaw

Ortho rhombic

e85 orod)E 3BEH0
@

4. &



Question Number : 148 Question Id : 1455899988 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which one of the following reactions will generate a pair of enantiomers?

B0d Sw6° 2 B (HBEED 2 KD,

Options:
El’g
/ ccly
1.¢
/ RCO;H
_—
2. 8
D,
T e
\ Pd
3. #®
0, 04
——
H,0,
4, %

Question Number : 149 Question Id : 1455899989 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the pair of liquids which can represent a system with only upper
critical solution temperature,

8od T éagg ‘éogg ) é&‘ﬁ{ﬁéﬁ) é:ﬂtéﬁa He ééé;géo SORCKR) (%8
200 =8

Options:

Phenol + H,O
1. ¢ g)ﬁ“g + H,O

Diethyl amine + H>O

| B&ES o®S + HO

Nicotme + H,O

ATHS + H0
3. %

Ethanol + H-O
&£383°S + H,0

4. %

Question Number : 150 Question Id : 1455899990 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The product “Y" in the given reaction sequence is

BoB ST7 E5os0E s%Soid Y D K8oiSod.

q (i) NH, Br, / KoH

R- C - OH - X > Y
(i) A




Options :

R -CH; - NH,

R -CH; - OH

R-CH:-Br

R - NH;
4.



